3 (Sem-2) PHL M 1

2018

PHILOSOPHY
( Major )
Paper : 2.1

( Logic )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Ansuwer either in English or in Assamese

1. Answer the following questions as directed :

1x10=10
TP oo PprEs Ted o -

{a) Why is shorter truth table method called
an indirect truth table?

5 o) Slferd] “fafee R oA o oo g
(PRI =R ?

{b) What does the contradiction involved in a
shorter truth table imply about the
argument?

o Ty Siferere Teq (2141 SRS e P 2
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(2)

State the logical form of the rule of
Hypothetical Syllogism (HS).
FFE<E TN (Hypothetical Syllogism) FI¥9
2 31 s o w4 Ty 0

Why is the procedure of formal proof of
validity called formal proof?

eR AIARE I FEEES AR e [FE
A ST LN Yo PRI ?

The rule of modus tollens (MT) is a rule of
inference/rule of replacement.

( Choose the correct answer )

Modus tollens NS fachl SqueE 74/
FASESFIE 34 |

( m Teeo! 1Mo Sfersan )
What do you mean by the figures of
syllogism?

A S e & e e

What is the Latin name of the rule modus
tollens?

Modus tollens 9IS Wﬁ @fon 7w 52

State the logical name of one valid mood
of the second figure of a syllogism.

TEe Al e 9B Y Y o AN
Ty 41

{ Continued )

(3)

(i) What does the shading put in a Venn
diagram imply?
(o fogo wfée 3 WRIT A 9FE ¥
o ?

(i) What is a quantifier?
“RFF T Q@0 ?

2. Answer the following questions in brief :

2x5=10
oo TR B Ted fort
fa) What is a singular proposition? Give one
example.

GFF o4 FE (Q1Ca 7 961 TR |

(b) State two points of difference between
propositional logic and predicate logic.

T[T SFRER E Rege SRS e
2 {51 N Toard 41 |

(c/) What is the meaning of the Latin

phrase ‘reductio ad absurdum’ Name
the decision procedure which is known
also as the method of ‘reductio ad
absurdum’.
@ ‘reductio ad absurdum’ (SPTH®
M) AR Y 7 ‘Reductio ad
absurdum’ 31 SPTHS 4H Wiﬁ?{\‘s G (G
e ~tmfochr™ = ford |

(d) State the definition of formal proof of
validity as given by I. M. Copi.
I. M. Copi-9 il (I4oR SARFRLER I
SRR H5[CLE] |
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(e) Symbolize the following propositions
using quantifiers :

AfSqe IR IR Tee W THNEEOR
ACIFNT ol AP 91 :

() No warriors are coward.
CRTCTT Tl 2SI |

(i) Everything is enjoyable.
FRCA! 8 TSI |

3. Give short answers for the following questions
(any four : S5x4=20

O] 2NPTYRd 5 e ol (R e wif) -

(a) Write a short note on predicate logic.

Rearre sHwr Fod <61 55 G foran |

(b) Name any five rules of replacement with
appropriate symbolic expression.

TRE ASNE T e AT wEefesid
@9 =9 o9 |

(c) What are the rules of quantification?
Name the logician who is credited for the
discovery of quantification.

AT Fam a1 sz & R R
HRFAF Bt e whmeea w9 fas |

( Continued ) 8A/724

(5)

(d) Describe the structure of standard form
categorical syllogism.

SERBPTIS 0o TRR 9 TI B4 |

(e} Who invented Venn diagram? Represent
the four traditional categorical
propositions through Venn diagram.

& P9 @7 wigm FRRE? d5=mee
foraeers 357 BIG1 (o o = 2Rep <64 |

- Explain the strategies for the construction of

shorter truth table with a suitable example. 10
O Te THRIW A BY -SRI SR e
AR A1
Or / 7331
Prove the validity or invalidity of the following
arguments through shorter truth table
method : 5x2=10
oY TI-SIferaT *Tafe< @1 weTe A 3feemyey Cager
YT AT JF ;.
(@) If common people are intelligent, then
politicians are honest.
Common people are intelligent.
.. Politicians are honest.
3fit TP R =, (orTR e e R
e T |
EPTIYRE (T |
<. SR 78 |
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(6)

(b) If either Ram or Shyam goes to the
market, then Rita does not have to
give money.

Ram is not going to the market and Rita
has to give money.

. Shyam is not going to the market.
Tt 9 1 =0 TEEC T, (SR TR T
9 st |

I G T AF o o 77 AfoR
T IWEACE A4 |

S. Describe the rules of inference with proper
symbolic expression. 5+5=10

TEE ASNT TN OO WA JPIgE W0
Salll

Or / &1

Construct formal proof of validity for the
following arguments : 10

hmﬂemﬁﬁrmwwww@ﬁwwﬁmiwwﬁm
Tfeonea (39 o 3941

() 1.(A-B)o[AD(D-E)

2.(A-B)-C/.. DVE
() 1. ASB
2. CoD
3. (~Bv~D)-(~Av~B)/ .. ~Av~C
8A /724 ( Continued )

(7))

6. What is the standard form categorical
syllogism? Explain the Venn diagram
technique for testing standard form of
categorical syllogism. 2+8=10
ORI AR T FF @ ? PR TRE
(5] X0 F499 AT = o 1wl v 541 |

Or / 7iz1

Prove the validity or invalidity of the following
syllogistic arguments with the help of Venn
diagram : 5+5=10 -
= foad SReEe e fral E SREERRE 3l Al
I A9 F

(a) No poor man is happy.
Some honest persons are poor men.
.. Some honest persons are not happy.

CRFICT! AN A2 72 FJ |
foga e 72 20 1_0 |
-, TR e Tz = 3
(b) All great scientists are college graduates.
Some professional athletes are college
graduates.
». Some professional athletes are great
scientists.
FFCE] TIeT (IR 2 [oF |
g oeR e = ST |
- g Ffe® et =¥ vies (qEfe |
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(8)

7. Explain how traditional AEIO propositions
are symbolized with the help of quantifiers.
8+2=10
AT T2 e[ AEIO PR dOIF
TS AP AT F 2, 1 397 |

Or / 1331

Prove the validity of the following arguments

in predicate logic : 5+5=10
feame sReme fam st e fr g
(3 &1 97

fa) All philosophers are wise.
Aristotle is a philosopher.
.. Aristotle is wise.

SRCe] TP = @
B = e wpffe |
. GfRB0E = w9

(b) All men are honest.
All scientists are men
.. All scientists are honest.

SPCE] HE 2 TR
! (TSI 2 TR
= SRCET] (RIF 2 e |
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